g Maths Knowledae Oraaviser Topic 13: Percentanes 3

wWhat must T be able to do?

Key vocabulary

You may veed o revise the following:
o NMear & Topic 11: Percentages 2.
o Mear 7 Topic 10: Percentanes 4
New content:
[ Caleulate simple interest and compound interest

Sparx U533, U332

Simple interest | Tuterest is calculated once and remains the
same amount for each period (e.9. year) and
then added on.

Compound Iwterest is re-calewnlated each period (e.9).

interest year) from the new total amount and added
on.

Depreciation A decrease i the value of something over
time.

The starting value is always 100%%. An increase takes i+ over 100%% and a decrease takes it below 100%%. Change the vew

1 percewtage to a decimal to find the multiplier.

e.0). Decrease £210 by 150 100 - 1510 = &5

Simple and compound interest

possible. Which bank should she invest her £2000 in?

Option A

The Iuternational Bank

Compound Interest
©“o for the first year

2% interest for each extra year
Option A

©“To interest is 10677 so 1.0¢ as a multiplier
2% interest is 102 so 1.02 as a multiplier

2000 x1.06 x1.02° = £2244.7¢

Power of 2 as itis 3 years at 2%
! 1.02 x1.02 x1.02 = 1.023

e.0. Increase £210 by 15%. 100% +15%% = 115%%. 115%%0 as a decimal is 145, So £210 x 115 = £241.50

?5% as a decimal is D.35. So £210 X 0.%5 = £17D.50

Viv wants +o invest £2000 for 4 years in the same bank. At the end of 4 vyears, Viv wants to have as much money as

Option B
The Friendly Bank
Simple interest

2% each year

Option B
Simple interest so 3% of 2000 = 0.03 x 2000 = £60
£GO x 4 vears = £2.40

£2000 + £240 = £2240

The Intervational Bank will give more money after 4 vears

Twucreasing and decreasing by a percentage using multipliers

Working backwards with compound interest

value of \.

Using multipliers: 2500 x 7% = 4254.2.7

_A254.2%

+o undo a power of 4.

e.9. Simon invests £3500 at o a year compound interest for 4 vyears. After 4 vears he has £4254.27. Caleulate the

74 3500 =1.215505#4
Note this is a 4™ root, vot —
a sduare root as we ueed 7 = VAZIG505 A4 = 1.0490000%4 = 1.05 +o 24.p.

1.05 15 105%%0 as a percentage.

This is a 5% ucrease ow 100%% so Y = 5%.
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